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v A Vx2|VX mA x 2 mA X 2
AB 1 eur 1 4 0,65
AB 2 eur 2 4 0,65
CB 1 eur 3 13 0,2
CB 2 eur 2 13 0,2
DD 4 Tu 4/5 4 0,65 i
DD 6 Tu 4 6,3 0,2 ‘
DD 13 Tu 4 13 0,2 200 350 0,5 5
EB 1 eur 3 6,3 0,25
EB 2 eur 1 6,3 0,24
EB 4 eur 6 6,3 0,2
EB 11 eur 7 6,3 0,2
EB 34 eur 8 6,3 0,2
2D48B Mul 9 4 0.65
Equivalents
A4 DD Cas = AB 1 KL 70550 Kgf = AB2 | UMD 40 Sat = AB 2
A2 B ER = AB2 KL 70551 Kgf = AB1 | VB 1 Dar = EB 1
ACDD Maz = DD 4 NDD 40 Sat = AB1 | WE 31 TH = AB 1
BB 1 Tf = CB2 NDD 51 Sat = AB2 | WE 36 TIf = AB2
BB 4110 Vat = AB 1 OM 3 Cos = EB 34 | ZD Fer = CB 2
c2cC ER = DD 13 TAB 1 Tu = AB1 | 2D Mul = CB1
D 400 Tri = AB2 TAB 2 Tu = AB2 , 2D 13 A Mul = CB 2
D 401 Tri = AB1 TB 1 Dar= AB1 | 2D 13C Mul = DD 13
D 601 Tri = EB 1 TB 2 Dar = AB 2 4 A Ult = AB 2
D 1300 Tri = CB2 TB 13 Imp = CB 1 4D Low = AB 2
D 1301 Tri = CB1 TCB 1 Tu = CB 1 6 E Ult = EB 4
DD 4S Tu = AB2 TCB 2 Tu =CB2 | 13D Low = CB 2
DD 6 DS Tu = EB 4 TEB 1 Tu = EB 1 13 D Low = CB 1
DD 13 S Tu = CB2 TEB 2 Tu = EB2 13 U Ult = CB1
DD 465 Tu = AB1 UB 1 Dar = CB 1 13 U Ult = CB2
DD 620 Maz = DD 6 UB 2 Dar = CB2 | 1638 amer = EB 34
DDA 1 STCE= AB 1 uDpD Cas = CB1 | 70550 Kgf = AB 2
DDL 4 Cos = DD 4 UDD 51 Sat = CB 2 | 70551 Kgf = AB1
EDD 71 Sat = EB 4 |
A
Cayk, Ca,iks Caya, o Us, ik, Ul ZAI 2 Az
T.
pF pF pF v v T
EB 4 12 12 | 02 75 125 ; @ P ki
EB 11 3,5 1 0,004 100 125 w
EB 34 45 45 0,5 75 50 X ¥
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